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ICT 13–2
The Life and Times of the Burrowing Owl
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Burrowing owls are an endangered species in Alberta. What factors are limiting the population of these owls? What does the future hold? As you explore the web site, you will find the answers to these questions.

What to Do

• Follow the steps in each part.

• If you are doing this from a printed master, record your answers in your Science Log or notebook.

• If you are using a word processor, enter your answers electronically. Remember to save your work as you go.




Part A: Web Site Evaluation



What Did You Discover?
1. Scan the information about threatened species on the Alberta Government web site and answer the following question.

2. Do you think this is a reliable web site? Explain why or why not. If you are not sure, ask your teacher for BLM 2–8, I Found It on the Internet, to help you.

Part B: Burrowing Owl

1. From the Alberta Government web site about threatened species, click on Burrowing Owl from the list of species.

2. You are on the page titled “Status”. Use the scroll bar to navigate to the bottom of the page. Click on Description to go to the next page. Continue to move from page to page to read about each of the following topics.

• Status

• Description

• Habits

• Reproduction

• Food

• Limiting factors

• Management and Outlook

3. Use the information you find to complete the following statements and make summary statements about each topic.

What Did You Discover?

Status

1. (a) Once numerous, the species  __________________________________________ .

(b) Since the 1930s, there has been  _____________________________________________ .

(c) In 1987, the population of burrowing owls in Alberta was estimated to be ____________ .

2. What do you think is happening to the population of burrowing owls in western Canada? Why?

Description

3. (a) Burrowing owls have typical  _________________________________________ .

(b) By standing tall, they can  ______________________________________________ .

(c) Burrowing owls are coloured  ___________________________________________ .

(d) Their colours provide good  _____________________________________________ .

4. How is the burrowing owl well adapted to life in the grasslands?

Habits

5. (a) Unlike other owls, burrowing owls  _____________________________________ .

(b) Burrows are important to these owls because  _______________________________ .

(c) Burrowing owls do not dig their own burrow. Instead, they prefer  ______________________________________________________________________ .

(d) If a predator enters the burrow, the young birds  _____________________________ .

6. What do you think would happen to the population of burrowing owls if ground squirrels, badgers, and foxes were removed from an area?

Reproduction

7. (a) Male and female burrowing owls do not  ________________________________ .

(b) Males modify a burrow by  _____________________________________________ .

(c) The lining may provide  ________________________________________________ .

(d) When the nest is ready, the female  _______________________________________ .

(e) Newly hatched young  _________________________________________________ .

(f) After this, the young stand  ______________________________________________ .

8. How do burrowing owls reduce the chance of predators killing an entire group of young?

Food

9. (a) Burrowing owls eat a tremendous  ______________________________________ .

(b) They also eat  ________________________________________________________ .

(c) The most common food is the  ___________________________________________ .

(d) These supply most of the energy for burrowing owls  _________________________ .

(e) In early summer, adult birds usually  ______________________________________ .

(f) At other times of the year, burrowing owls hunt  _____________________________ .

(g) The owls may also be active during  ______________________________________ .

(h) Burrowing owls chase  _________________________________________________ .

(i) Young birds in particular  _______________________________________________ .

10. Draw a food chain and an energy pyramid showing the burrowing owl as a secondary consumer. Include a tertiary consumer in both the food chain and the energy pyramid.

Limiting Factors

11. (a) Burrowing owls require  ______________________________________________ .

(b) The critical factor in the decline of burrowing owls  __________________________ .

(c) Ground squirrels and badgers are considered pest animals and  _________________ .

(d) Burrowing owls rely on ground squirrels and badgers to create  _________________ .

(e) Without these animals, the owls  _________________________________________ .

(f) Cultivation often destroys  ______________________________________________ .

(g) Burrowing owls cannot  ________________________________________________ .

(h) Many burrowing owls have been killed accidentally  _________________________ .

(i) The owls may die when they  ____________________________________________ .

(j) A large number of burrowing owls are killed  _______________________________ .

(k) Natural factors that limit the population of burrowing owls include:  ______________________________________________________________________ .

(l) Severe, late spring storms may  __________________________________________ .

12. Explain how the population of burrowing owls is limited by natural factors.

13. Explain how two modern agricultural practices have affected the population of burrowing owls in Alberta.

Management and Outlook

14. (a) Burrowing owls are protected by  _______________________________________ .

(b) Methods of protecting current  ___________________________________________ .

(c) Alberta currently has an  ________________________________________________ .

(d) Burrowing owls will readily use  _________________________________________ .

(e) This technique could be used to help solve the  _____________________________ .

15. What is the outlook for burrowing owls in Alberta? Explain.
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